



B.B.A. DEGREE EXAMINATION – JUNE 2008.

First Year

BUSINESS MATHS AND STATISTICS
Time : 3 hours
Maximum  marks : 75

Answer for 5 marks questions should not exceed 
2 pages.

Answer for 15 marks questions should not exceed 
5 pages.

PART A — (3 ( 5 = 15 marks)

Answer any THREE questions.

All questions carry equal marks.

1. From the following wages of 30 workers form a frequency distribution taking class intervals as 
10-20, 20-30, 30-40. etc.

	23
	46
	77
	64
	39
	33

	35
	88
	62
	49
	52
	46

	41
	72
	75
	56
	62
	59

	82
	61
	68
	16
	82
	20

	75
	51
	50
	72
	54
	57


R÷Ç öPõkUP¨£mkÒÍ 30 ÷Áø»¯õmPÎß \®£ÍzøuU öPõsk 10--–20, 20–-30, 30–-40 GßÓ ¤›ÄPÒ öPõsh Aø»öÁs £mi¯À u¯õ›UP.

	23
	46
	77
	64
	39
	33

	35
	88
	62
	49
	52
	46

	41
	72
	75
	56
	62
	59

	82
	61
	68
	16
	82
	20

	75
	51
	50
	72
	54
	57
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3. Find 
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 BQ¯ÁØøÓ   PõsP.

4. Calculate Median and Quartile Deviation from the following data :

20
28
40
12
30
15      50

R÷Ç öPõkUP¨£mkÒÍ Â£µ[PÎ¼¸¢x Cøh{ø» ©ØÖ® PõÀ©õÚ Â»UP® PõsP.

20
28
40
12
30
15      50

5. What is a Time Series? Write down the components and two uses of Time Series.

Põ»z öuõhº Á›ø\ GßÓõÀ GßÚ? Põ»z öuõhº Á›ø\°ß £SvPÒ ©ØÖ® Cµsk £¯ßPøÍ GÊxP.
PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

6. (a)
Write down any three limitations and any four uses of statistics.

(b)
Draw Histogram and hence find mode from the following data :

	C.I :
	10-20
	20-30
	30-40
	40-50
	50-60
	60-70
	70-80

	f :
	2
	5
	12
	19
	10
	9
	6


(A)
¦ÒÎ°¯¼ß HuõÁx ‰ßÖ Áøµ¯øÓPøÍ²® ©ØÖ® HuõÁx |õßS £¯ßPøÍ²® GÊxP.

(B)
R÷Ç uµ¨£mkÒÍ Â£µ[PÐUS öuõhº ö\ÆÁP® Áøµ¢x Av¼¸¢x •Pk PõsP.

	C.I :
	10-20
	20-30
	30-40
	40-50
	50-60
	60-70
	70-80

	f :
	2
	5
	12
	19
	10
	9
	6


7. Define primary data. What are the various methods of collecting primary data? Describe any two methods of collecting primary data.

•uÀ {ø» uPÁÀ Áøµ¯Ö. •uÀ {ø» uPÁÀ ÷\P›US® £À÷ÁÖ •øÓPÒ GßÚ? •uÀ {ø» uPÁÀ ÷\P›US® Cµsk •øÓPøÍ ÂÁ›.
8. Solve the system of equation
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R÷Ç  uµ¨£mkÒÍ \©ß£õkPøÍ wºÄ PõsP.
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9. (a)
Find the difference between simple interest and compound interest for Rs. 1,000 at 8% per annum for 2 years, the interest being compounded quarterly.

(b)
Find the maximum and minimum values of the function 
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(A)
¹. 1,000 A\»õÚx 8% Ámi ÃuzvÀ CµshõskPÎÀ uÛÁmi ©ØÖ® TmkÁmiUS Cøh÷¯²ÒÍ Âzv¯õ\zøu Ámi¯õÚx Põ»õsiÀ Tku»õS® {ø»°À PõsP.

(B)
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 GßÓ \©ß£õmiß ªP¨ö£›¯ ©ØÖ® ªPa]Ô¯ ©v¨¦PøÍ PõsP.

10. Calculate Mean Deviation and Standard Deviation from the following :
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 :
	50
	51
	52
	53
	54

	f :
	4
	12
	18
	12
	4


R÷Ç öPõkUP¨£mkÒÍ Â£µ[PÐUS \µõ\› Â»UP® ©ØÖ® vmh Â»UP® PõsP.
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 :
	50
	51
	52
	53
	54

	f :
	4
	12
	18
	12
	4


11. Calculate the correlation coefficient and form the regression line of X on Y from the following :

	x :
	100
	200
	300
	400
	500
	600
	700

	y :
	30
	50
	60
	80
	100
	110
	130


R÷Ç EÒÍ Â£µ[PÐUS JmkÓÄU öPÊ PõsP. ÷©¾® Y ß «uõÚ   X ß Ehß öuõhº¦ ÷Põk Aø©UP.

	x :
	100
	200
	300
	400
	500
	600
	700

	y :
	30
	50
	60
	80
	100
	110
	130


12. Calculate :

(a)
Laspeyre’s 

(b)
Paasche’s and

(c)
Fisher’s index numbers for the following 
data :

	Commodity
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	A
	12
	20
	15
	25

	B
	10
	8
	16
	10

	C
	15
	2
	12
	1

	D
	60
	1
	65
	1

	E
	3
	2
	10
	1


R÷Ç EÒÍ Â£µ[PÎ¼¸¢x (A) »õì¤¯º 
(B) £õæ ©ØÖ®  (C) ¤å›ß SÔ±möhsPøÍ PnUQkP.

	ö£õ¸Ò
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	A
	12
	20
	15
	25

	B
	10
	8
	16
	10

	C
	15
	2
	12
	1

	D
	60
	1
	65
	1

	E
	3
	2
	10
	1
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